Using Make a Ten to Demonstrate the Adding Algorithm

The standard algorithm for adding is a short cut to calculate quick sums.
Here is a simple demonstration of how to use Make a Ten to
demonstrate what is really happening in the algorithm. You can project
the Make a Ten demo on a screen and do the algorithm on a board
nearby.

Questions for the class.

* How does the Make a Ten demonstration relate to the Algorithm?

* What are the advantages of seeing the 100’s, 10’s and 1’s?

* Why does the standard algorithm leave out the extra digits?

* What are some examples where the algorithm might NOT be
quicker? (see example at the end)

Enter a triple digit sum in the Adding Screen. Pick a number that
that will require some “carrying.”

@
687 + 284 =

687 284



Stack the numbers

o7+ 2= 087
284

Pull partinto 100s, 10s, and 1s

wrsamac 000 80 7
200 380 4



Add the ones column

686;+§;4=6OO 80
200 30
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Add the tens column

o7+ 24 - 600
200
170

Carry the 100

687+284=6OO 100
200

70



Add the 100s column

Z @
687 + 284 =

100 70

Reassemble the number and see the solution

74

687 + 284 = q7 l




Now let’s try a different example, it seems very similar...

4 €4

108 + 257 < we2sr-300 90 38
398 257 200 50 7

w2300 90 w08 +267= 300
200 50 200
5 150 5

3 @ @ @
398 + 257 = 398 + 257 = 65'5'

600+ 50| 5

J 9

But can we see a short cut if we think about tens and hundreds?
23 @ @ 24
398 + 257 = 2 398 + 257 = 2

3861 1260 3906 260

J 9

What was the clue that there might be a short cut?
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